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Algebra 1 Semester 1

Assessment Training Practice #3B

1.) Find the x-intercept and the y-intercept of the graph of the equation: 3x - 4y = 24. Graph
the equation. . O A
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2. Find thex-intercept and the y-intercept of theLQraph of the equation: -4x + 3y = 12.
Graph the equatlon A /‘
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3.)  Aline passes through the points (-5, -2) and (3, 6). Write an equation for the line. Graph

the equation. A
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4)) A line passes through the points (-3, 5) and (2, -10). Write an equation for the line. Graph

the equation.
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5) Solve: -x-15=29

6.)  Solve: -(x + 5) = 3x + 2(x - 4)
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7.) Solve: 6x + 2x - x - 5 = 12x
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9) The length of a rectangle is 5 centimeters less than twice it width. The perimeter of the

rectangle is 26 cm. What are the dimensions of the rectangle?
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10.) The sum of four consecutive even integers is 460. Write an equation that models this

situation and find the value of the four ir ItegerS. B ?/ 174‘ {}/ | éj
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11.) The width of the rectangle is 8 in. more than its length. The perimeter of the rectangle is 24

in. What are the dimensions of the rectangle?
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12.) The sum of four consecutive odd integers is 472. Write an equation that models this

situation and find the value of the four even integers.
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